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(i) The question paper comprises of two sections, A and B. You are to attempt both the
sections.

(ii) All questions are compulsory.

(iii) There is no overall choice. Howeve,�. internal, choice has been provided iTJ, all the three
questions of fi�e marks category. Only one option in such questions is to be attempted:

(iv) All questions of Section A and all questions of Section B are to be attempted separately.
 

(u) Questions number 1 to 6 in Section A and 17 to 19 in Section B are short, answer type
questions. These questions carry one mark each.

(vi) Questions number 7 to 10 in Section A and 20 to 24 in Section Bare short answer type
questions and carry two marks each.

(vii) Questions number 11 to 14, in Section A and 25 and 26 in Section B are also short
answer type· questions and carry three marks each.

(viii) Questions number .l5 and.16 in Section A and question number 27 in. Section B are
long answer type questions and carry five marks each.
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(i) � 'JTR W W � writ, 'ffTIT 37 3fk 'ffTIT � ff W 1TlfT ! I 3fT1TcfiT cft:ff W1Tf it m
. . it � � , ·, 

(ii) � 'JTR 3Tf.:rqrzf f I

(iii) 1F 'J{Ff w rrr q;)-{ F[lF{ Wr:ff � # TR1] rnw-rnw � it "fft;r m. ff 'J{Ff '4taft
rFR Reff 1TlfT � I Ff >fF!T ff 3TTTl � 'JTR '4taft 7!!1i � W � � it ffrrl:
¥�t,

(iv) 37JTlc:h7" 'ffTIT 3l 3fk 'ffTIT 'isf it � m it � rprc![- rpTcl[ 'ffTIT � TR � m I

( v) 'ffTIT 3{ it 'JTR #l§!lr 1 "ff 6 3fr< 'ffTIT 'isf it 'JTR #l§!lr 17 "ff 19 it· 'JTR � � cfITT
7!%-7!% Jfq; it t I

(vi) 'ffTIT 37 it 'JTR #l§!lr 7 "ff 10 3fr< 'ffTIT 'isf it � #l§!lr 20 "ff 24 it 'JTR -eJ---eJ- �

it��cTITTf I

(vii) 'ffTIT 37 it � #l§!lr 11 "ff 14 3fr< 'ffTIT 'isf it 'JTR #l§!lr 25. � 26. ft � "fit;r-rfR

�it·�� cfITT / I

( viii) 'ffTIT 37 it 'JTR #l§!lr 15 3fk 16 3fr< 'ffTIT 'is( cfiT 'JTR #l§!lr 2 7 cfiT 'JTR Tffq-Tffq � ·
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SECTION A 

m-rT3l 

1. Bala,nce the following chemical equation :

Fe (s) + H
2

0 (g) -> Fe
3
0 

4 
(s) + H

2 
(g) 

f;ii..:ifaf@a {IBlllRcfi Bl-ficfi{or "cfiT fi�fc.1a � 

Fe (s) ·+ H
2
0 (g) � Fe

3
0 

4 
(s) + H

2 
(g) 

2. Why is respiration considered an exothermic process ?

a. How does the flow of acid rain water into a river make the survival of aquatic life in the

river difficult ?

�cf1ffcfif���cfi\�"q�m�tm����qi1

a-a0i1fc1a1 � cfllT QT � � 1

1 

1 

1 



t Draw the_ following diagram in your answer-book and show the formation of image of the 
object AB with the help of suitable rays. 1 

� � � � cfiT � 3m-gR<'lc:fil if &'h�c:fi{ � m1l'TI cfi1" B�lllctl � � AB cfiT 

:sifafcil-cil 'Gf,HT R�t$Q. I 

5. Why is a series arrangement not used for connecting domestic electrical applianc_es in a
. circuit ?

6. Out of 60 W and 40 W lamps, which one has a higher electrical resistance whep. in
use?

· 7. Write the chemical formula for washing soda. How may it be obtained from baking
soda ? Name an industrial use of washing soda other than washing clothes. 

'i:TrcR' msT cfiT {IBl"-lRc:fi � f<:'lmiQ, I � � msT � Ffltf >fqJR mto <8: � � ? 
� � � � � mt cfiT � � 3Ff 3TI{llf71c:fi 3'Q<WT f("ifo!Q. I 

8. Give an example of a decomposition reaction. Describe an activity to illustrate such a

1 

1 

2 

reaction by heating. 2 

fclllliiH (�) � cfiT � 3�1�{01 � I � � 1R � 1%m arf� �

-rn cfiT � � � � � Rfill1c:fi�1q cfiT qUR �



9. Draw ray diagrams to represent the nature, position and relative size of the image
formed by a convex lens for the object placed : 2 

(a) at 2F 1.

�) between F1 and the optical centre O of lens. 

f&im 3"m1 � mr � 51f8�¼1 cli1 �. IBlfu am � � cfiT � � 311W 
� � � � qil "{©'I ·,r:rr t

(a:r) � t 2F
1 

�. 1l\ I 

(�) � � � F1 3ffi Qcfil�lcfi � 0 � � 

. 10. What is meant by the term, 'magnetic field' ? Why does a compass needle show 
deflection when brought near a bar magnet ? 

'114chlll �· � 'B cf<lT � � ) 114ctilll w (F<ctti-i:lcfi) cfiT � � � � RcR 

�'1\����t? 

11. (a) Why are covalent compounds generally poor conductors of electricity ?

(b) Name the following compound :

H H 
I I 

H-C-C-C-H

I 11 I 
H O H 

(c) Name the gas evolved when ethanoic acid is added to sodium carbonate. How would
you prove the presence of this gas ?

(a:r) B�B�l"11 � >IT4: � � m;, � (�'91<-Jcfi) cFlT � � 7 

(af) [;jqfZviftfrl � c6f -;::rr-q � 
H H 

I I 
H-C-C-C-H

I 11 I 
H O H 

(U) 6tf 1TB" qlf � � � «lfull� cfil�'f�.: 1l\ �� � �- � � · 'ITTfil

t I 3m � 1TB" cfil � � � <Wt ?

2 

3 
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12. (a) What are amphoteric oxides ? Choose the amphoteric oxides from amongst the
following oxides 

(b) · Why is it that non-metals do not displace hydrogen from dilute acids ?

( 3,) '3"� 6ilcffll�:S cf<:l'T � � ? � �llcffll�s1 � "B "3�'tflTT �Tc:1-m�s'i cnr � · 

� 

13. Two lamps, one rated 60 W at 220 V and the other 40 W at 220 V, are connected in
parallel to the �lectric supply at 220 V.

(a) Draw a circuit diagram to show the connections.

(b) Calculate the current drawn from the electric supply.

(c) Calculate the total energy coris1.m1ed by the two lamps together when they operate

3 

for one hour. 3 

c) � � 6lj/laicti 220 V 1R 60 W � 220 V 1R 40. W �' cfil 220 V ct)- � awr_ffi
"B ffl Wl -?f � '7T<TT t I

(3,) W filfl'1H cfil -� � � � � �

(�) � awr_ffi � � � mu qftctifaa · � 1 

(U) W fi<41'51..J "G" -ey;:IT Bl!TT '[TU � � if � ¥ � qf{q;fe1ct � I

14. (a) Distinguish between the terms 'overloading' and 'short-circuiting' as _used in domestic
circuits. 

lb) Why are· the coils of electric toasters made of an alloy rather than a pure metal? 3 

(3r) � � t � � '� � '�28' � � � � I 

(�) � � � mcr.=r � (cfiWffi) 911 � � "B � � t%m fir� "B � 

<iRflIT � t ? 



15. On the basis of Mendeleev's Periodic Tab�e given· below,. answer the questions _that follow
the table

Group I II III IV 

Oxide R
2
0 RO R203 R0

2

Hydride RH RH
2

RH3 RH4

Periods A B A B A B A B 

i 

1' 
H 
1·008 

2 Li Be B C 
6·939 9·012 10·81 12·011 

3 
Na Mg Al Si' 

22·99 24·31 29·98 28·09 

4 First K Ca Sc Ti 
series: 39·102 40·08 44·96 47·90 

Second Cu Zn Ga Ge 
series: 63·54 65·37 69·72 72·59 

5 First Rb Sr y Zr 
series: 85·47 87·62 88·91 91·22 
Second Ag Cd In Sn 
series: 107·87 112·40 114·82 118·69 

6 First Cs Ba La Hf 
series: 132·90 137·34 138·91 178·49 
Second Au Hg Tl Pb 
series: 196·97 200·59 204·37 207·19 

(a) Name the element which is in

(i) rst group and 3rd period. 

(ii) vu
th group and 2ud period.

V 

Rz05 

RH3

A B 

N 
14·007 

p 

30·974 

V 

50·94 

As 
74·92 

Nb 
92·91 

Sb 
121·75 

Ta 
180·95 

Bi 

208·98 

(b) Suggest the formula for the following :

· (i) oxide of nitrogen

(ii) hydride of oxygen

VI VII VIII 

·Ro3 Rz07 R04

RH
2

RH 

A B A B Transition 
series 

0 F 
15·999 18·998 

s Cl 
32·06 35·453 

Cr Mn Fe Co Ni 
50·20 54·94 55·85 58·93 58·71 

Se Br 
78·96 79·909 

Mo Tc Ru Rh Pd 
95·94 99 101·07 102·91 106·4 

Te I 

127·60 126·90 

w Os Ir Pt

183·85 190·2 192·2 195·09 

(c) In group VIII of the Periodic Table, why does cobalt with atomic mass 58·93 appear
before nickel having atomic mass 58·71 ?

(d) Besides gallium, which two other elements have since been discovered for which
Mendeleev had left gaps in his Periodic Table ?



(e) Using atomic masses of Li, Na and K, find the average atomic mass of Li and K and
compare it with the atomic mass of Na. State the conclusion drawn from this
activity. 5 

(a) Why do we classify elements ?

OR 

(b) What were the two criteria used by Mendeleev in creating his Periodic Table ?

(c) Why did Mendeleev leave some gaps in his Periodic Table ?

(d) In Mendeleev's Periodic Table, why was there no mention of Noble ·gases like
Helium, Neon and Argon ?

(e) Would you place the two isotopes of chlorine, Cl-35 and Cl-37 in different slots
because of their different atomic masses or in the same slot because their chemical
properties are .the same ? Justify your answer.

� � � �r�ctllfi. 3WIB � � an� <n: f:i.:;ifc1fum m � 6W � 

� I II III IV V VI VII VIII 

� 'f c:t-+1 I �:s R2O RO RzO3 RO2 R2Os RO3 R2O7 RO4

�H��l�s RH RH2 RH3 RH4 RH3 RH2 RH 

3lTcra A B A B A B A ·n A B A B A B fl ¢t>l-JO I �

1 
H 
1·008 

2 Li Be B C N 0 F 

6·939 9·012 10·81 12·011 14·007 15·999 18·998 

3 Na Mg Al Si p s Cl 
22·99 24·31 29·98' 28·09 30·974 32·06 35·453 

4 >f2fq K Ca Sc Ti V Cr Mn Fe Co Ni 
�: 39·102 40·08 44·96 47·90 50·94 50·20 54·94 55·85 58·93 58·71 

-� Cu Zn Ga Ge As Se Br 
�: 63·54 65-37 69-72 72·59 74·92 78·96 79-909

5 >f2fq Rb Sr y Zr Nb Mo Tc Ru Rh Pd 
wrfr: 85·47 87·62 88·91 91·22 92·9_1 95·94 99 101·07 102·91 106·4 

fum,:r Ag Cd In Sn Sb Te 
�: 107·87 112·40 114·82 118·69 121·75 127·60 126·90 

6 >f2fq Cs Ba La Hf Ta w Os . Ir Pt
�: 132·90 137·34 138·91 178·49 180·95 183·85 190·2 192·2 195·09 

� Au Hg Tl Pb Bi 
�: 196·97 200·59 204·37 207·19 208·98 

5 



. (a:f) � � qiT � � '111' 
Ci) � 1 crm · 3lffif 3 # t

(ii) � VII im 3TicIB 2 # �
(�) f.i8fafurn � � � �: 

(i) -11��1"1'1 qiT 611¾1�-s
(ii) �lcffil-:iH cfiT �1�¥1�-s

(�) 3Wffi � � � VIII# chl<ill&. 'chl', � � S::&.l4H 58·93 �, � � 
� S::&.l4H 58·71 �' "B �. cf<TT nID Tf?TT � ? 

Cc:) �fall4 � � � c:r � m'cTT � 11ll � � m A.-,g<17q, � � 
3Wffl � # fur; � � � � °[{ 

(<l) Li, Na cfm K � � s!_&.l4Hl qiT � � Li cfm K qiT � � s!_&.l4H 
� � 3W � � Na � � s!_&.l4H "B � I � f¢hlllcf.019 mr
f;fq;@��qiT��.I

(a:r) � ffi'cTT q;r cp'ifcuu1 cPff � � ? 
(-af) 3Wffi � q;r RlTTUT � � Ar:gct)q, mT � � c:T i419C::Us cf<lT � ?

(B) A.-:g<1l4i � � � URUft #·¥§ fur; m cp;rr � � � ?
(C:) ij .. :g<11Cfi ctr 3Tfcffl � # �fcill4, R<iR cf�� *m � 'Tm qiT � cp;rr 

�fc!:i<:rr1T<TT2lr? 
C<r) � a:rrq <:R11D-1 � c:r � c1-35 0211 c1-s7 cir ra 'C!BTUJ i;.oi.!4H � QFl � 

cflRUT �-N?r � _tR m � � � {IBlllf.-la.=; :rrr B-.1 .. � q; ct-.,..._01 � 
m � tR � ? � � cfi1 � ci;,Nio: ,

16. (a) What is meant by dispersion of white light ? Describe the formation of rainbow in
the sky with the help of a diagram. 

(b) What is hypermetropia ? Draw ray diagrams to show the image formation of an
object by :
(i) Hypermetropic eye
(ii) Correction made with a suitable lens for hypermetropic eye.

(a). Giye reaso.ns for the following :
(i) Colour of the clear sky is blue.

OR 

(ii) The sun can be ·seen about two minutes before actual sunrise.
(iii) We cannot see ·an object clearly if it is placed very close to the eyes.

(b) What is Presbyopia ? Write two caus_es of this defect. 5 



( 3'f) 
;rcTii WITT! � �11111 iJ' 'Pl'f � � ? 3Tin9 <fft �t!l•Hil � 3WliM � �'R"i � ;;r-:R
cliT<!'lR� I 

(<!) �ef�re. eyf tf<IT � t ? �T 3W cf.r fltll'-H'tl � R.;, � 11 f.p:q ifi' 
s.RlfotUil q;J � R:.@l�IJ. 

,;i G'l•i'ife zyi- � � i.RI 

(ii, 391fli � :ITTl -�w. � � <f.T � rn in: 

3ll!Tlfl 

(31) f.:1,;ift1fillii iii IBlt q;f(U] fdf@Q, :

<i> � 3lJr.ITTl qiT 'M -;m,r mm t

,;;> � ifi ,m-<1fcF-1; mm t � � BTrlllT � ftR?: tftliYI 'flt��� (9'l@l
if I 

(iii> 1l'fc: Fc!';m � lfiT % t � f.r,g m'llT "11ll, ffi � � ::ref!' � .;ii Wfiffl I 

('i) �-s_<<tfe111 zy'f q'<I]' t!lnT � ? Til' zyf ifi � r.n['{1TI fMfolQ 

SECTION B 
�a1' 

17. Which one ol lhc fol lowing rn a nmewnble resource 7

Natural gaH, P11lrolcum. Ground waler, Coal 

18. Whnl is tho effect of DNA <:opying which is not perfoctly accurate on tho reproduction
pr0<:ess'

Ill. How do aut.olrophs oblain CO2 und N2 to make t.heir fcl<ld ?

ffl1tfi oN-fl '� ffi t @it CO2 om N2 <h1 fi Mf cfim i ?

20. List any four chw·acLeri1-1tic� nf bioguij on account o[ wL.ioh il it1 considered no ideal fuel. 2

•lli41fif1 c!i't <ffi 'i:fR fo:fijtj<'iia\t cfil 3("<;'!@ 9'i�r: � 9i!"{U] � TTqi � ��,R 1-JR! ';ifT<1f
ii 

21. Oiscuas one limitation each for Lhc cxtracLing of enurgy from :

(;1) winds 

lb) I ido.s. 2 



RYR1fula # � "B � � 9i8 <h1 �-� m-tlT <h1 �chF11 � 

(31) m

(�) � 

22. Write one function each of the following components of the transport system in human
beings : 2 
(a) Blood vessels
(b) Blood platelets
(c) Lymph
Ed) Heart 

!fRq # � ctf t Rl-.-lfcifohi � qif �-� cwf � 

(31) "efm cilffi$1 �

(<if) m� 

("B") � 

(G) m

23. Name one sexually transmitted disease each caused due to bacterial infection and
viral infection. How can these be prevented ? 2 

�� rn ITT q@ � � � ��� � zj;:rc; � &:rn �
cl@ WT cpl � � I B -um "B � � � � t ?

24. What are fossil$ ? What do they tell about the process of evolution ? 2 
Jt1c:i1�� cf<lT � � ? � mm � � �� it cf<lT -s=t1...Jqi1fl � Q,a1 % ?

25. How· is ozone formed in the upper atmosphere ? Why is damage to ozone layer a cause of
concern to us ? What causes this damage ? 3 

ql:i�u_.;a � � 'IWf ll � � ffl �. ? � lf{(1 911 � WITT ,e1t; � cpl
� cp;rr t ? � ?.JIB cfil cfiRUT q<ff t ?

26. How are oxygen and carbon dioxide transported in human .beings ? How are lungs
designed to maximise the area for exchange of gases ?

��

3 

-qr;rq it 6-llcR-il-sF-t <fm � �6-llcfm�s qiT qf<clil1 � � t?lriJ � 1 mrr � fclR�ll

� � � � fsiill�-i it 3lf� � � fil-tl�f¾ct � � )

27. (a) Draw the structure of a neuron and label the following on it :
Nucleus, �endri.te, Cell body and Axon 

(b) Name the part of neuron :

(i) where information is acquired.

'(ii) through which information travels as an electrical impulse.

OR 

5 



(a) � What is (i) phototropism and (ii) geotropism ? With labelled diagrams describe an
activity lo show that light and gravity change the direction that plant parts grow in. 

(b) Mention the role of each of the following plant hormones :

6) Auxin

(ii) Abscisic acid

(3T) dGtct1:f-<1q-;1 cn1 tirt:1.-11 q;r m &Yilcfi:t � � f.ii.:ifcif@a "cfil" ;.i14ifcna ch1G,w : 

�, �. ch)f.<1cfi1 cf>Tlr o2'fT aGtcfi,a.-i

(6l) dfStch)f.<1cfil � � 'iWT q;]' � f<1f@Q. : 

(i) � {l'i:HI� d4l�o ch1 � � l

(ii) � � {lil.-11� � � "ct1 � 1'flH � � I

3l?fqJ

(3T) Ci) Slch1�11jc1J.:i o2TT Cii) 2�ci:llj}=l<l.-1 cJ<TT � � ? .-114ifcha � cn1 Bt:w-m, "B fcnm 
� '9fiq1cfic11q q;r � ch!MQ. � � � m fcn � o2TT � � � � cfIB
� ."ctl � "cfil" Gftclfao cR � � I

(GJ") f.ii.:if<1f@ct � � "ct1 � fciR9Q. : 

(i) dllfcHH

CiD QMfBcfi �

5 
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